SAMPLE QUESTION PAPER (2024-25)
ENGLISH LANGUAGE AND LITERATURE
CLASS-X
Time allowed: 3 Hrs. Maximum Marks: 80

General Instructions:
1. The Question Paper contains three sections-
READING, GRAMMAR & WRITING and LITERATURE.

2. Attempt questions based on specific instructions for each part.

SECTION A : READING SKILLS (20 marks)
Reading Comprehension
1. Read the following text and answer the questions. 10 marks

(1) As a high school student, studying poetry can be a rollercoaster ride. This journey
Is punctuated by moments of profound appreciation for simpler pieces and
intermittent frustration with more complex works. Let's be real here -some poems
are just plain confusing and no amount of re-reading seems to help decipher the
intended meaning. The puzzlement that results from such instances can be both
vexing and demotivating. If solving a riddle is what was intended, then playing
Sudoku is a better option. One is led to ponder if obscurity was the goal.

(2) Conversely, some pieces resonate with the reader's soul. stirring feelings of
warmth, happiness, and connection to the world. Often, these compositions centre
on themes that are universally understood, such as love, nature, or faith. Being able
to actually understand what the poet is trying to say can feel like a little victory and
is a welcome relief after grappling with more perplexing poetry.

(3) Then there are poems that are emotionally charged; the ones that make the reader
curl up in a ball and cry or jump up and down with joy. One is left in awe of the
poet's ability to convey emotion through words. Let’s not forget the downright weird
poems. These are the ones that defy categorization and leave the reader to their own
devices in attempting to interpret meaning. The author's use of figurative language
and unconventional imagery can create a sense of bewilderment that is either
intriguing or off-putting. Regardless, the reader can appreciate the uniqueness of the
work.

(4) Despite the wide range of emotions and reactions that come with studying poetry,
it can be a rewarding pursuit. Not only does reading poetry allow one to appreciate
the artistic beauty of the written word but also enables one to develop crucial critical
thinking and analytical skills. The process of unlocking a poem's meaning can feel
like cracking a code or solving a puzzle but the sense of accomplishment derived
from mastering a challenging piece can be deeply gratifying. Finally, impressing an
English teacher with a well-analyzed poem can be a source of pride and validation.

(5) Overall, studying poetry is like a box of mixed chocolates, you never know what
you're going to get. But whether it's complex, emotional, simple, or just downright
weird, there's always something to be gained from the experience. So, let's applaud
all the poets out there, for making us laugh, cry, scratch our heads, and occasionally
feel like a genius.

Answer the following questions, based on the passage above.



I Which of the following statements best describes the author's attitude toward
studying poetry? 1 mark

A. Finds poetry to be a frustrating and meaningless endeavor.
B. Believes that the emotional rollercoaster of studying poetry is not worth the
effort.

C. Recognizes the challenges of studying poetry but also acknowledges the
rewards it offers.
D. Feels that poetry is too obscure and abstract for the average person to
Appreciate .

1. What is the tone of the writer in the given lines from paragraph (1)? Rationalize
your response in about 40 words. 2 marks
“If solving a riddle is what was intended, then playing Sudoku is a better

option. One is led to ponder if obscurity was the goal”.

1ii Complete the sentence appropriately.

The author's use of vivid imagery in the paragraph (3), such as "curl up in a ball
and

cry" and "jump up and down with joy", greatly affects the reader
because : I1mark

Iv The passage includes some words that are opposites of each other. From the sets
(a)-(e) below, identify two sets of antonyms: 1mark

(a) intriguing and off-putting (b) deciphering and interpreting
(c) appreciate and applaud (d) simple and challenging

(e) emotions and feelings

v Complete the sentence appropriately. 1mark

We can say that the author's tone becomes more neutral and objective when
discussing weird poems, compared to other types of poetry because

vi Based on the reading of the passage, examine, in about 40 words, how studying
poetry can be like exploring a new city. 2 marks

vii What is the message conveyed by Hina's experience, in the following case?

Hina spends hours trying to analyze a poem for her assignment and finally feels a
sense of accomplishment and pride, once she understands. 1mark

A. Only those with natural talent for poetry should engage with it.

B. Persistence makes studying poetry a rewarding pursuit.

C. Study of poetry is guaranteed to impress others.

D. The efforts of studying poetry is inversely proportional to the rewards gained. 1

viii State whether the following lines display an example of a simple / complex /
emotionally charged / downright weird , poem. 1mark
The sun rises in the east,
A new day begins, a fresh start.
Birds chirp, nature wakes up,
A peaceful feeling in my heart.



2. Read the following passage and answer the given questions: 10 marks

(1) Reduction in green areas has caused various environmental problems. People
squeezed between concrete structures are looking for various ways to meet their
longing for green. One of the ways to do so is vertical gardens and green walls.
Vertical gardening is a unique method of gardening where plants are grown in a
vertical position or upward, rather than in the traditional method of planting them on
the ground.

(2) The purpose of vertical gardens and green walls, which arises from the studies
of different disciplines (landscape architects, architects, engineers, etc.), is to close
the cold image of concrete and increase the visual value. In these systems, nature
and structures are integrated, and thus, urban areas and the desired environment have
become intertwined.
(3) Vertical garden case studies often show that , though functionality should be in
the foreground, when vertical gardens are planned, they are generally made as
aesthetic elements in the city's underpasses and city squares, and decorative elements
in residences, without seeking functionality.
(4) Experts support that the visual quality and evaluation of landscape architecture
Is determined based on the satisfaction of the users. Hence, a survey questionnaire
was prepared for residents of varied age groups from a metropolitan city. The given
Table 1, displays these responses:

Table 1 - Total number of participants: 400

No. Survey statements Strongly Neutral | Disagree | Strongly
agree disagree

Vertical gardens-
improve quality of life of people 191
in urban areas
reduce noise pollution 128

increase air quality -indoors and 172
outdoors
reduce energy and water 58
consumption

positively impact global warming

have a relaxing and calming
effect
cost too much

make plants look beautiful

add naturalness to the environs

are among the determining
factor to visiting a place
are inconvenient indoors

can be applied in every place

have a functional feature

distract drivers

funds are best used for social
issues

(5) The study acknowledged that vertical gardening has the potential to transform
urban spaces into green, sustainable areas, and further research should explore the
impact of vertical gardening on the environment and human well-being.

Answer the following questions, based on the passage :

I Complete the following analogy appropriately, based on your understanding of
paragraphs 1 & 2.



We can say that the situation of people living in concrete structures is comparable
with a fish living in a fishbowl, and the need for vertical gardens to the need for
decorations in the fishbowl because : Imark

Il Fill the blanks with the appropriate option from those given in brackets, based on
your understanding of paragraph 2.

The statement that , urban spaces have become more closely connected with the
desired natural surroundings through the incorporation of nature and structures in

vertical gardens and green walls, is a (fact/ opinion) because it is a
(subjective judgement/ objective detail). 1mark
i Justify the following, in about 40 words. 2 marks

While the survey results suggest that vertical gardens may be effective in improving
the quality of life in urban areas, further research and evaluation may be necessary
to fully understand their effectiveness and potential drawbacks.

iv Based on the survey results, which two concerns should a city government,
looking to install vertical gardens, address? 1mark

v In Table 1, the statement 3, "Vertical gardens increase air quality - indoors and
outdoors,” received the most neutral responses from participants, with 51
respondents indicating a neutral stance. State any one inference that can be drawn
from this. I1mark

vi Select the option that correctly displays what ‘intertwined’ signifies. (Reference-
Paragraph 2)

D = v L

(i1) (i11) (iv) (v)
A. (i), (iv)and (v)
B. Only (ii)
C. Only (ii)
D. (ii) and (v)

vii Infer one benefit and one drawback of vertical gardening, in comparison to other
solutions, such as community gardens or parks. (Answer in about 40 words) 2marks

viii Which of the following is the main takeaway from the study mentioned in the
passage?

A. Vertical gardening has minimal impact on the environment or human well-being.
B. Vertical gardening is a sustainable practice that can transform urban spaces into
green areas.

C. The impact of vertical gardening on the environment and human well-being has
already been thoroughly explored.

D. The study needs to include experts from horticultural firms to offer any
recommendations for further research.

SECTION B : WRITING SKILLS & GRAMMAR (20 marks)

Q3 Complete ANY TEN of twelve of the following tasks, as directed.
1x10=10 marks



I. Fill in the blank by using the correct form of the word in the bracket, for the given

portion of a letter:

Dear Sir This is with reference to committee’s letter of recommendation that
(highlight) the nominations for ‘Safe Residential Area’ award for this

current year. 1mark

Ii. Read the given sentence from a recipe review article. Identify the error and supply
the correction in the sentence. This delightful recipe must keep your hunger pangs
at bay with its balanced spices and oriental flavour. Use the given format for your
response. error correction 1

Iii. Abhilash and Neha had a conversation about the inauguration of Neha’s Dance
Academy. Report Abhilash’s question. Is your best friend helping you in this
venture? 1

Iv. Read the dialogue between Shabnam and her mentor, Sara, regarding her summer
internship programme. Sara: Why did you choose to participate in this internship
programme? Shabnam: Ah! | am convinced this programme has the potential to
enhance my abilities. Select the correct option to complete the reporting of the above
dialogue. Sara asked Shabnam in that
internship programme. Shabnam sighed and exclaimed that she was convinced that
programme had the potential to enhance her abilities. A. why to choose to participate
B. to choose participation C. about her choice to participate D. with her choice in
participating 1

v. The hospital board clearly mentioned that you smoke in the hospital as
it is a health hazard for all.
A. cannot B. must not C. need not D. might not

vi. There’s never petrol left after Rahul uses the car.
A.much  B. little C. many D. a little

vii. | am taking driving lessons now. Hopefully, | my driving test by
November.
A. will take B. would pass C. will have taken  D. will be taking

viii Which option displays the correct change of the following to reported speech?
Sunitha asked Venkat, “How much is the rent for your flat?”
A. Sunitha asked Venkat how much was his rent for flat.
B. Sunitha asked Venkat how much the rent for his flat was.
C. Sunita enquires from Venkat that how much rent he pays.
D. Sunita told Venkat how much the rent for his flat was.

iXx Which option displays the correct change of the following to reported speech?
She said, “I told Damanjit to send you an e-mail three days ago.”
A. She told that Damanjit had mailed you three days then.
B. She informed me that Damanjit has mailed me three days before.
C. She says that she has told Damanjit to send me an e-mail three days then.
D. She said that she had told Damanjit to send an e-mail to me three days
before.



X. Identify the error and supply correction for the given sentence from a commercial
company’s current marketing strategy.
The company aimed at increasing authority in areas frequently visited by the clients.
Use the given format for your response.

error correction

xi. Select the option that identifies the error and supplies the correction for the
closing line, from an analytical report.

In conclusion, this study explores the association among short-sleep pattern and
overweight youngsters.

Option No. error correction
A explores explore
B and or
C among between
D In for

xii. Complete the line from a self-awareness song, by filling the blank with the
correct option.
The river runs through your veins
The trees and mountains your name
The moon and stars watch over
You’re guiding your way back home
To dream the night away.

A. will call C. had called
B. call D. calls

WRITING

4a . As Vaishali Nathani of 214, Indrayani Apartments, Vaishali Street, Daipur, you
believe that forming Ecology clubs and appointing Eco-minders in your city can aid
in the preservation and conservation of nature.

Write a letter to the MLA of your city area, in about 100-120 words, suggesting the
need to form such clubs. Share their importance and implications. Recommend the
involvement of resident volunteers for the implementation of eco-club activities that
nurture and protect the local ecosystem.

OR

4b. You are Sunidhi Prakash, the Vice Captain of Brilliant Vidyalaya, Barra,
Kanpur. You have recently noticed several posters around your school premises
conveying a hazardous message:
Lose weight in just a month!
“A WONDER DIET comes to your rescue ...
A privilege available for only a few!”

Write a letter to the Editor of The DWA, in not more than 120 words, drawing
attention towards harm caused by such advertising. Propose the implementation of
“Wholesome Lunch Month’ in schools as an idea to address such practices, mention



the advantages and share suggestions to foster healthy eating routines and develop
positive body image among youngsters.

5.2 The graph given shows estimated sales of gold in Dubai in 2002. Write an
analytical paragraph describing the line graph in around 100-120 words.

Dubai Gold Sales 2002
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OR
5.B As the Captain of the school’s Cultural Club, you have been asked to study the
given itinerary provided by a tour-organizing vendor.
A 3N/2D Educational Tour for the Senior School Students: Jabalpur and
Ranha National Park (Vandhya Pradesh)
= Tour Travel & sightseeing by bus.
= Accommodation on quad sharing basis.
= One staff complimentary for every 20 students.
= Bottled mineral water throughout the tour.
= Dance Party on 22 November.
= Insurance policy of [ 20,000/- per head.
= Provision of Tour Manager’s assistance to all places.

Day Estimated time of Estimate Sight-seeing Time spent
departure from d time Destination/ Activity at the
of arrival destination
22 Nov. 8:49 am (Nagpur 5:23 pm | Reporting at the hotel
2023 Junction)-8 hrs. 30
min
23 Nov. 9:00am (hotel) 10:00am | Bhawartal Garden 1 hr.
2023
11:00am (garden) 11:40am | Bhedaghat Dhuandhar 1hr.
Falls
12:40pm (falls) 1:00pm Lunch (nearby 1 hr.
restaurant)
2:00pm (restaurant) 2:15pm Marble Rocks Cable car 1hr. 30 mins
tour
3:45pm (Marble | 4:45 pm | Rani Durgavati Museum 1 hr. 30
Rocks) mins
6:15pm (museum) 7:00pm Back to the hotel
24 Nov. 5:30am (hotel)- 170 9:30am Ranha Tiger Reserve 7hrs.
2023 kms- 4 hrs. drive
4:30pm (Tiger | 9:00pm Back to the hotel
Reserve)
25 Nov. | 7:54 am (Jabalpur 4:21 pm Magpur Railway Junction
2023 Railway station)- 8
hrs. 45 min

Analyze this itinerary to either approve or reject the tour proposal, while focusing
on the student’s safety, interest, and physical wellness. Write this analytical
paragraph in about 120 words, by selecting features that support your analysis.

You may begin like this:



A thorough analysis of the itinerary provided by the tour organizing vendor reveals
that the tour proposal should be accepted/rejected. You may end up like this:
Therefore, the tour proposal for the educational trip should be approved/rejected.

SECTIOND :
LITERATURE TEXTBOOK AND SUPPLEMENTARY TEXT (40 marks)

Q6. Read the given extracts and answer the questions for ANY ONE of the two,
given. 5 marks

5a. The question he tried to answer was simple: What is the purpose of the twelve
tiny gold spots on a monarch pupa? “Everyone assumed the spots were just
ornamental,” Ebright said. “But Dr Urquhart didn’t believe it.” To find the answer,
Ebright and another excellent science student first had to build a device that showed
that the spots were producing a hormone necessary for the butterfly’s full
development. This project won Ebright first place in the county fair and entry into
the International Science and Engineering Fair. There he won third place for
zoology. He also got a chance to work during the summer at the entomology
laboratory of the Walter Reed Army Institute of Research.

(The Making of a Scientist)
| State any one inference about Dr Urquhart from the given context:
Everyone assumed the spots were just ornamental,” Ebright said. “But Dr Urquhart
didn’t believe it.” 1

Il State TRUE or FALSE.

None of the terms (a) -(d) below, can be applied to the question - What is the purpose
of the twelve tiny gold spots on a monarch pupa?

(@) A hypothesis - a proposed explanation for a phenomenon

(b) An assumption - something that is taken for granted or assumed to be true without
proof

(c) A premise - a proposition that forms the basis of an argument

(d) A theory - a well-substantiated explanation for a natural phenomenon 1

Iii Ebright's approach towards finding the purpose of the gold spots on a monarch
pupa was highly effective. Elaborate in about 40 words, with reference to the extract.

iv Which phrase would correctly substitute 'a chance' , in the given sentence from
the extract. He also got a chance to work during the summer at the entomology
laboratory of the Walter Reed Army Institute of Research. 1

OR

B. “Hey, a tea garden!” Rajvir cried excitedly. Pranjol, who had been born and
brought up on a plantation, didn’t share Rajvir’s excitement. “Oh, this is tea country
now,” he said. “Assam has the largest concentration of plantations in the world. You
will see enough gardens to last you a lifetime!” “I have been reading as much as |
could about tea,” Rajvir said. “No one really knows who discovered tea but there are
many legends.” (Glimpses of India)

1) Why was Pranjol not as excited as Rajvir about the tea gardens? 1 mark
A. He disliked looking at tea gardens.
B. He had worked in tea gardens himself.



C. He had grown up in and around tea gardens.
D. He was bored with tea gardens.

1) What does Pranjol mean by saying that Assam has the largest concentration of

plantations in the world? 2 marks
i) Fill in the blank with ONE WORD only. 1 mark
Pranjol’s comes through clearly when he exclaims, “You will see

enough gardens to last you a lifetime!”

IV) Select the option that correctly captures the application of the word ‘cried’ as
used in line 1 of the extract. 1 mark

A. Jaspreet cried a lot in spite of winning second place in a competition.

B. Jaspreet cried out loud when she saw a white tiger in the sanctuary.

C. Jaspreet cried for hours when the police were unable to find her lost pet.

D. Jaspreet has barely cried since she was three years of age.

2 iii Read the following descriptions (a)-(c) and identify which one correctly
corresponds to the extract. (a) A debate is a formal discussion on a particular topic,
usually with two or more people presenting different viewpoints and arguments. (b)
A soliloquy is a speech given by a character alone on stage, which reveals their
innermost thoughts and feelings to the audience. (c) An aside is a brief comment or
remark made by a character directly to the audience, which is not intended to be
heard by other characters on stage. 1 iv If an actor were to enact this extract, what
would he be required to focus on, while modulating his voice? 1

7. Read the given extracts and answer the questions for ANY ONE of the two, given.

A. But if it had to perish twice,
| think I know enough of hate
To say that for destruction ice
Is also great
And would suffice. (Fire and Ice)

i Fill the blank with one word.

When the speaker says that ice could also bring about the end of the world, he refers
to , as the means for destruction. Imark

Il What does the speaker's alignment with those who favour ice, suggest? 1mark

iii Which of the following best describes the speaker's attitude towards destruction
caused by ice?
A. Indifferent B. Fearful C. Dismissive D. Respectful I1mark

iv Comment on the poet’s use of language in these lines. 2marks
OR
B. The trees inside are moving out into
the forest,
the forest that was empty all these
days
where no bird could sit
no insect hide



no sun bury its feet in shadow
the forest that was empty all these
nights
will be full of trees by morning. (The Trees)

1) Complete the sentence appropriately. It is clear that Personification is the poetic
device used for ‘No sun bury its feet....” because . (Clue:
explain how personification applies here) 1 mark

I1) The poet has used a poetic device in the given lines. What effect does she wish
to create by its use? 1 mark
...no bird could sit

no insect hide no sun...

A. emphasis B. comparison C. rhyme D. humour

Iii) State whether the following statement is TRUE or FALSE: 1 mark
The extract uses trees as a symbol for conservative people.

Iv) Why are the trees moving out into the forest? 2 marks

Q8 Answer ANY FOUR of the following five questions, in about 40-50 words.

4x3=12 marks

I Justify the opinion that the traditional baker and his bread play a significant role

in the cultural and social fabric of Goan society. (Glimpses of India-I)

Il How does Leslie Norris use vivid imagery and metaphorical language in A Tiger
in the Zoo, to effectively depict the confinement and oppression, experienced by
the captive tiger.

iii Explain how the description of the devastation caused by the hailstorm reflects

the sadness within Lencho, in A Letter to God.

Iv Kitty was a trusted friend to Anne. Elaborate. (From the Diary of Anne Frank)

v Validate the given statement with reference to the baby seagull’s fear. ‘Fear

doesn’t exist anywhere else other than one’s mind.” (His First Flight- Two Stories
about Flying)

9 Answer ANY TWO of the following three questions, in about 40-50 words.

2x3=6 marks
I Dr. Herriot knew his patients as well as their owners really well. Discuss.,
( A Triumph of Surgery )

Il Validate the importance of small, fun learning tasks towards successful careers, in

the context of Richard Ebright in The Making of a Scientist.
il State the reason why the writer of The Midnight Visitor chose to characterize
Ausable as short and fat.

10 Answer ANY ONE of the following two questions, in about 100-120 words.

1x6=6 mark
(A) You have been asked to present an evaluation of the approaches of the mothers
of both, the baby seagull and Amanda, towards helping their children. Write this
presentation draft including your insights, in about 120 words, comparing the
approaches of both parents.



You may begin this way: One acknowledges that both parents, Amanda’s mother
and the baby seagull’s mother both....however, ... (Reference -Amanda! & His First
Flight)

OR
(B) You have been chosen to address a student gathering from the neighbourhood
schools, to speak on the resilience of human spirit required to transcend
discrimination. Prepare the speech draft in not more than 120 words, with reference
to the commonality of themes in Nelson Mandela: Long Walk to Freedom and The
Trees by Adrienne Rich.
You may begin this way:
Good morning, everyone. Today, I'd like to discuss two pieces of literature that offer
a powerful insight into the resilience of the human spirit required to transcend
discrimination.
You may end this way.
To conclude, I’d like to say that ...
Thank you

11 Answer ANY ONE of the following two questions, in about 100-120 words.

1x6=6 marks
(A) Imagine that M. Loisel, from The Necklace by Guy de Maupassant, writes a
diary entry, exploring the theme of class and social status, and the nature of social
mobility, in the context of his own experience. Write this diary entry , as M. Loisel,
in about 120 words.

OR

(B) A character arc is the transformation or development of a character throughout
a story and refers to the changes a character undergoes as a result of their
experiences, challenges, and interactions with other characters. In the light of the
above information, trace the character arc of the thief in Ruskin Bond’s The Thief’s
Story, in about 120 words.
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SAMPLE QUESTION PAPER
Class X Session (2024-25)
MATHEMATICS STANDARD(Code No.41)

TIME: 3 hours MAX.MARKS: 80

General Instructions:
Read the following instructions carefully and follow them:

1.

2.
3.

h =

Pl

9.

This question paper contains 38 questions.

This Question Paper is divided into 5 Sections A, B.,C,D and E.

In Section A, Questions no. 1-18 are multiple choice questions (MCQs) and questions no. 19 and
20 are Assertion- Reason based questions of 1 mark each.

In Section B, Questions no. 21-25 are very short answer (VSA) type questions, carrving 02 marks
each.

In Section C, Questions no. 26-31 are short answer (SA) type questions, carrying 03 marks each.
In Section D, Questions no. 32-35 are long answer (LA) type questions, carrving 05 marks each.
In Section E, Questions no. 36-38 are case study based questions carrving 4 marks each with sub
parts of the values of 1, 1 and 2 marks each respectively.

All Questions are compulsory. However, an internal choice in 2 Qs of 5 marks, 2 Questions of 3
marks and 2 Questions of 2 marks has been provided. An internal choice has been provided in the
2 marks questions of Section E.

Draw neat and clean figures wherever required.

10. Take m =22/7 wherever required if not stated.
11. Use of calculators is not allowed.

Section -A

Section A consists of 20 questions of 1 mark each.

X and Y are two positive integers such that X = psq and¥ = (pq)z, where p and q are
prime numbers, then the LCM(ZY) 15 )
(@) pq b)p'q’ (©) p'q’ dp'q

If n i1s a natural number, then Z(SH + ﬁﬁ:) always ends with
(a)1 (b)4 (c)3 (d)2

The quadratic polynomual whose zeroes are reciprocals of the zeros of the polynomuial 1
axz + bx + ¢, a#0, c#0is

(a)ax2+bx+c [b)bx2+cx+-:1
(c) cx2 + bx 4+ a (d) ch +ax + b

If one of the zeros of a quadratic polynonual of the form x*+ ax + bis the negative of
the other, then it

(a) has no linear term and the constant term 15 negative
(b) has no linear term and the constant term 1s positive
(c) can have a linear term but the constant term 1s negative
(d) can have a linear term but the constant term 1s positive

Lh

The pair of linear equations y=0 and y= -5 has 1
(a) one solution (bytwo solutions
(c) infinitely many solutions (d)no solution




6 | Which of the following equations has the sum of its roots as 3?
(2% —3x+6=0 M) —x +3x —6=0
©~2x" — %x +1=0 @3’ —3x+3=0
A
7 | If the sum of the roots of the equation X —x= m(2x — 1) is zero, then m=
(a)-2 (b)2 (c)-1/2 (d)1/2
8 | If the coordinates of one end of a diameter of a circle are (2,3) and the coordinates of its
centre are (-2.5) , then the coordinates of the other end of the diameter are
(a)(-6,7) (©)(6.-7) () (6.7) (d)(-6.-7)
9 | If the distance between the points (2, -2) and (-1.x) 1s 5 , then the sum of values of x 1s
(a)4 (b)-4 (c) 8 (d)-8
10 | The ratio in which x -axis divides the line segment joining A(3,6) and B(12.-3) 1s
(a) 2:1 (b)1:2 (c) 1:3 (d)3:1
11 | Sides AB and BE of a right triangle, right angled at B are of lengths 16cm and 8 cm
respectively. The length of the side of the largest square FDGB that can be inscribed in the
triangle ABE is:
B
(a) 32/3 ]
() 8/3 A
(c) 16/3 F ¥
(d) 4/3 z L -\\.
(L] 4 _\‘r
* B ———— 4
12 | The altitude drawn to the hypotenuse of a right angled triangle divides 1t info two triangles
both of which are
(a) similar to each other (b)congruent to each other
(c) 1sosceles (d)equilateral
13 | Ifin triangles ABC and DEF ._% = %, then they will be similar, if
(a) “B=-E (b)/A=-"D () B=-D (d)
S A="F
14 | If ADEF~AXYZ and the sides of ADEF are 3cm, 4cm and Scm, then the sides of AXYZ

can be
(a)écm , 8em , 12cm (b)8cm, 10cm, 6¢cml
(c) 6cm, 10cm, 16cm (d) 6em, 8cm, 10cm

If x tan 60°cos 60° = sin 60°cot 60°, thenx =
(a)cos 30° (b)tan 30° (c) sin 30° (d)cot 30°

16

If A ABC 1s right angled at C, then the value of cos (A+B) 1s:
(a)0 (b1 © 5 -5

17

The probability of guessing the correct answer to a certain question is a/b. If the
probability of not guessing the correct answer to this question 1s 35 , then
(a)b=4a (b) b=a (c) b=2a (d) b=3a




18

A three digit number is chosen at random. the probability that it 1s divisible by both 2 and
3,18

Ok (b) ©—+ @~

DIRECTION: In the question number 19 and 20, a statement of Assertion (A) is
followed by a statement of Reason (R).

Choaose the correct option

A)Both assertion (A) and reason (R) are true and reason (R) is the correct
explanation of assertion (A)

B)Both assertion (A) and reason (R) are true and reason (R) is not the correct explanat
assertion (A)

C)Assertion (A) is true but reason (R) is false.
D)Assertion (A) is false but reason (R) is true.

19

Assertion(A): Cot A is the product of Cot and A.
Reason(R): The value of Sin ¢) mcreases as () mcereases.

20

Assertion(A): The probability that a leap year has 53 Sundays 1s %
Reason(R): The probability of an event is P(E)=n(E)/n(S).

Section -B

Section B consists of 5 questions of 2 marks each.

21

1

If a and f are zeroes of X + 7x + 12 then find the value -:}f% + B

2af

22

Find the value of p for which the roots of the equation px(x — 2) + 6 = 0 are equal.
OR

Ifx= % and x= -3 are roots of the quadratic equation ax’ + 7x + b = 0, then find the

values of a and b.

23

Points A(3,1) , B(5,1), C(a,b) and D(4,3) are the vertices of a parallelogram ABCD. Find
the value of a and b.

24

Find the value of x, if AABC and ABDC are right angled triangles.

25

2 .2 2 2
cosec X—Sin xcot Xx—cot X
Prove that: 3 =1
sin’x

OR




Ifsina = —“E— and cos p = 0, then find the value of f — a.

Section -C

Section C consists of 6 questions of 3 marks each

26 | prove that «fg 15 an irrational number.
27 | Find the quadratic polynomial whose zeroes are 2 + \E and 2 — \E . Verify the
relationship between the coefficients and zeroes of the polynomial.
28 | Solve the following systems of equations:ax + by =a — b;bx —ay=a + b
29 | I the equation [1 + 'mz)x2 + 2mex + (cz - az) = 0 has equal roots, prove that
&= az{l + mz)
30 | If the point P(2,2) is equidistant from the points A(-2 k) and B(-2k -3), find k, also find the
length of AP.
OR
The line segment joining the points P (3,3) and Q(6,-6) 1s trisected at the point A and B
such that A 15 nearer to P. If A also lies on the line given by 2x+y+k=0, find the value of k.
31 | Inthe given figure, DEFG is a square and .~ BAC=90° . Show that FG’=BG x FC
In the given figure, . 1=."2 and .~ 3= . 4. Show that PT x QR =PR x ST.
Section -D
Section D consists of 4 questions of 5 marks each
32 | Solve graphically . the pair of equations 2x+y = 6 and 2x-y = -2 Find the ratio of the
areas of the two triangles formed by the lines representing these equations with x-axis and
lines with y-axis.
33

The hypotenuse of a right triangle is 3«,@ cm , if the smaller side 1s tripled and the largest
side 1s doubled, the new hypotenuse will be 15cm. Find the length of each side.

OR




If twice the area of a smaller square 15 subtracted from the area of a larger square, the
result is 14cm’. However, if twice the area of the larger square is added to three times the
area of the smaller square, the result is 203 cm®. Determine the sides of the square.

34

State and prove Basic Proportionality Theorem. In the given figure 1f |

% = E—E and £DP@Q = £DFE, then show that ADEF is an isosceles triangle.

35

3 3
tan B cot @

Prove the following that : = sec B cosec® — 2sinbcos O

1+1:cm2'9 1+ca\:28
OR
sin @
cot 8—cosec 8

Prove that: sin 8 =2+

cot B+cosec B

Section E

Section E consists of 3 case study based questions of 4 marks each.

36

A morning walk may help improve your mental clarity and ability to focus throughout the
day. A recent study found that amongst the older adults, those who started with a morning
walk improve their cognitive functions, compared to those who remain sedentary. Walking
may also help you think more creatively. In a morning walk three students step off
together, their steps measure 80cm, 85cm and 90cm respectively.
Based on the above information, answer the following questions:
1) Express 90 as a product of its primes.
2) Find the HCF of 80,85 and 90.
3) what 1s the minimum distance each should walk so that he can cover the distance in
complete steps.

OR

Find the smallest number which when divided by 80, 85 and 90 leaves remainder 7 in each
case.

(1)
(1)

)

37

In a Maths class, teacher ask the students to mark the points (4.-1) and (-3,2) on a graph
paper but Shweta mistakenly located the points (-1,4) and (3,-2).
Based on the above information, answer the following questions:
(1) Find the distance between the points, the teacher asked to mark.
(11) Find the midpoint of the line segment joining the points plotted by Shweta.
(1)  Find the coordinates of the point which divides the join of points plotted by
Shweta in the ratio 1:2
OR
If all the four points are plotted on the graph paper, then find the mid-pomt of
the line segment joiming the pomts lymg mn IT quadrant.

(1)
(1)
2)

38

There 15 a game of tossing of three coins. The entry fee in the game 15 ¥200. Shikha takes
entry into the game by paying the entry fee. The rules of the game are ; if she gets either




one or fwo heads on tossing, entry fee is refunded. If she gets three heads, she receives
double the amount paid as entry fee. Otherwise she loses the entry fee.
Based on the above information answer the following questions: (1)
(L Write the total number of possible outcomes of the game. (1)
(1)  Find the probability that shikha loses the entry fee. 5
(1)  Find the percentage of chances of getting T400. @
OR,
In what percentage of cases Shikha loses her entry fee?
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Sample Paper Science X
Term 1 (2024-25)
Time Allowed: 3 hours Maximum Marks : 80
General Instructions:

1. This question paper consists of 39 questions in 5 sections.

2. Allquestions are compulsory. However, an internal choice is provided in some
questions. A student is expected to attempt only one of these questions.

3. Section A consists of 20 objective type questions carrying 1 mark each.

4. Section B consists of 6 Very Short questions carrying 02 marks each. Answers to
these questions should in the range of 30 to 50 words.

5. Section C consists of 7 Short Answer type questions carrying 03 marks each.
Answers to these questions should in the range of 50 to 80 words.

6. Section D consists of 3 Long Answer type questions carrying 05 marks each. Answer
to these questions should be in the range of 80 to 120 words.

7. Section E consists of 3 source - based/case - based units of assessment of 04
marks each with sub - parts.

SECTION -A

1 Chemically rust is: 1
(a) Hydrated ferrous oxide
(b) Hydrated ferric oxide
(c) Only ferric oxide

(d) None of these

2 Milkiness of limewater disappear when excess CO, is passed due to the 1
formation of-

(a) Calcium hydroxide
(b) Calcium chloride

(c) Calcium bicarbonate
(d) Calcium carbonate

3 Composition of aqua-regia by volume is : 1
(a) DiLHCL (3) : Conc HNO; (1)
(b) Conc HCL (3) : DilHNO3 (1)
(c) Conc HCL (3) : Conc HNO3 (1)
(d) DiLHC1 (3) : DiLHNO; (1)

4 In the reaction: PbO + C > Pb + CO 1
(a) PbO is oxidised

(b) C acts as an oxidising agent

(c) Carbon acts as a reducing agent

(d) Reaction does not represent redox reaction.

—_ — — ~—




When you clean a metal vessel with tamarind the reaction taking place is:
Metal Oxide + X » Salt + Water. What is X here?

(a)Acid

(b)Base

(c)Hydrogen

(d)Carbon dioxide

An element X is soft and can be cut with a knife. This is very reactive to air and
cannot be kept open in air. It reacts vigorously with water. Identify the element
from the following

(a) Mg

(b) Na

(c)P

(d) Ca

A student adds lead and silver to two different test tubes containing an equal
amount of Copper Sulphate solution. The student observes that the color of
the solution in the test tube with lead changes. What explains the change in
the color of the solution?

(a) A displacement reaction takes place as lead replaces copper from the
solution.

(b) Acombination reaction takes place as lead combines with sulphate in the
solution.

(c) Decomposition reaction takes place as copper dissociates from sulphate in
the solution.

(d) Adouble displacement reaction takes place as copper dissociates from
sulphate and lead combines with sulphate in the solution.

Identify the phase of circulation which is represented in the diagram of heart
given below. Arrows indicate contraction of the chambers shown:

\

a) Blood transferred to the right ventricle and left ventricle
simultaneously.

b) Blood is transferred to lungs for oxygenation and is pumped into
various organs simultaneously.

c) Blood transferred to the right auricle and left auricle simultaneously.
d) Blood is received from the lungs after oxygenation and is received from
various organs of the body.

Which one of the following conditions is true for the state of stomata of a green
leaf shown in the given diagram?




Guard cell

tomatal pore

Chloroplast

a) Large amount of water flows into the guard cells.

b) Gaseous exchange is occurring in large amount.

c) Large amount of water flows out from the guard cells.
d) Large amount of sugar collects in a guard cells.

10

Lata wanted to cross the road she looked on either side of the road and then
walked across to the other side of the road. Which of the following is/are
involved in the process described above?

1. Cerebrum

2. Cerebellum

3. Skeletal muscles

4. Medulla oblongata
a)Only1 b)Only1&3 ¢)Only1,3&4 d)Only1,2&3

11

Look at the diagram given below:
0, Co,

PLANT

z

Identify the process taking place at Z:
a)Reproduction b) Transpiration c¢)Photosynthesis d) Translocation

12

When a 4V battery is connected across an unknown resistor there is a current
of T00mA

in the circuit. The value of the resistance of the resistor is

(i) 4Q

(ii) 40Q

(iii) 400Q

(iv) 0.4Q

13

The strength of a magnetic field inside a long current-carrying straight solenoid
coil is-

(i) More at the ends than at the centre.

(ii) Minimum in the middle.

(iii) Same at all points.




(iv) Found to increase from one end to the other.

14

The resistance of an alloy-

(i) Increase with temperature.

(ii) Decrease with temperature.

(iii) Is constant with rise in temperature.
(iv) Is zero.

15

Observe the three figures given below:
AN i 2 &4:1)—&%
A B [ &

Which of the following depicts tropic movements appropriately?
a) B &C b)A&C c) B only d) Conly

16

A student set up an experiment to study the role of enzymes in digestion of
food.

S T S—_—

Egg white |— — Egg white
+ pepsin |- ) + pepsin + HCL

</ <’
A B

In which test tube the digestion of protein will occur?

a)Test tube A as pepsin will breakdown into simple molecules

b)Test tube B as HCl will breakdown protein into simple molecules

c) Test tube A as pepsin will breakdown into simple molecules

d) Test tube B as HCl will activate pepsin for breakdown of protein into simpler
molecules.

Question No. 17 to 20 consist of two statements — Assertion (A) and Reason
(R). Answer these questions selecting the appropriate option given below:
a) Both A and R are true, and R is the correct explanation of A.

b) Both A and R are true, and R is not the correct explanation of A.
c)Aistrue butRis false.

d) Ais false but Ris true.

17

Assertion (A): After white washing the walls, a shiny white finish on walls is
obtained after two to three days.

Reason (R): Calcium Oxide reacts with Carbon dioxide to form Calcium
Hydrogen Carbonate which gives shiny white finish.

18

Assertion (A): Resins and gums are stored in old xylem tissue in plants.
Reason (R): Resins and gums facilitates transport of water molecules




19

Assertion (A): There is frequent urination in summers than in winters.
Reason (R): In summers we loose a lot of water as sweat, so the kidneys
reabsorb more water. Hence, urine formed is less in summer than in winters.

20

Assertion-Two bulbs A and B are rated as 100 W, 220V and 40 W, 220V
respectively.

Resistance of bulb A is more than that of bulb B.

Reason-For a given potential difference the power consumed in a resistor is
directly

proportional to its resistance.

SECTION-B

21

State reasons for the following:
(i) lonic compounds do not conduct electricity in solid state.

(i) From dilute hydrochloric acid, zinc can liberate hydrogen gas but
copper cannot.

22

In the experimental setup shown,

A) Name the material X filled in the small test tube and the material Y

placed at the bottom of the conical flask.
B) Why is there rise in the water level in the delivery tube?

23

Give reasons
A) People living in hilly regions get goitre.
B) Endocrine glands release their secretions into blood.

24

Name the two factors that completely define a magnetic field at a point.

25

The resistance of a resistor is kept constant and the potential difference
across its two ends is decreased to half of its former value. State the change
that will occur in the current flowing through it.

26

The charge possessed by an electronis 1.6 x 10-19 coulomb. Find the number
of electrons that will flow per second to constitute a current of one ampere.

SECTION-C

27

What type of chemical reactions take place when:
(a)Limestone is heating?

(b)A magnesium wire is burnt in air?
(c)Electricity is passed through water?

28

A metal Eis stored under kerosene. When a small piece of itis left open in air,
it catches fire. When the product formed is dissolved in water, it turns red
litmus to blue.

a. Name the metal E.




b. Write the chemical equation for the reaction when the metal E is
exposed to air.

c. Write the chemical equation for the reaction when the product
obtained above is dissolved in water.

29 How is lymph an important fluid involved in transportation? If lymph vessels
get blocked, how would it affect the human body? Elaborate.
30 Identify the labeled parts A, B & C in the given diagram and mention their
importance.
31 What is a solenoid? Mention two ways to increase the strength of the magnetic
field of a
solenoid.
32
i) Two identical resistors are first connected in series and then in parallel. Find
the
ratio of equivalent resistances in two cases.
ii) Table gives the resistivity of three samples (in Qm):
Sample A B C
Resistivity 1.6x10-8 7.5x1017 44 x10-6
Which of them is a good conductor? Why?
33 With the help of a labeled diagram, Discuss the mechanism of breathing in
human beings.
OR
Describe an experiment to prove that carbon — dioxide is essential for the
process of photosynthesis
SECTION-D
34 (i) Match the following pH values 1, 7, 10, 13 to the solutions given below:

a. Milk of magnesia
b. Gastricjuices
c. Brine




d. Aqueous Sodium hydroxide.

(ii) Amit and Rita decided to bake a cake and added baking soda to the cake
batter. Explain with a balanced reaction, the role of the baking soda. Mention

any other use of baking soda.
OR

a. Foursamples A, B, C and D change the colour of pH paper or
solution to Green, Reddish-pink, Blue and Orange. Their pH was
recorded as 7, 2, 10.5 & 6 respectively. Which of the samples has the
highest amount of Hydrogen ion concentration? Arrange the four
samples in the decreasing order of their pH.

b. Rahul found that the Plaster of Paris, which he stored in a container,
has become very hard and lost its binding nature. What is the reason
for this? Also, write a chemical equation to represent the reaction
taking place.

c. Give any one use of Plaster of Paris other than for plastering or
smoothening of walls.

35

(A) The image shows the circulation of blood in fishes and humans:

Blood capillaries
Human

How is the circulation of blood in fishes different from that in humans?

(B) State the significance of separation of right and left side of heart.
OR

A) How does paramecium obtain its food?

B) Complete the following charts as per the given instructions:

Name a, b and ¢ and write their functions d, e and f respectively.

I Gastric glands present inthe wall of stomach. |

Secretions
) v
a b c
[Function lFu nction Function
Y
] g [




36

Define resistance of a conductor. State the factors on which
resistance of a conductor depends. Name the device which is often
used to change the resistance without changing the voltage source in
an electric circuit. Calculate the resistance of 50 cm length of wire of
cross sectional area 0.01 square mm and of resistivity 5 x 10-8 Q m.
(Board Term |, 2014)

SECTION -E

37

Oxidation is the process of gaining of oxygen, or losing of hydrogen. Reduction
is the process of losing of oxygen or gaining of hydrogen. The substance which
undergoes oxidation is the reducing agent while the substance which
undergoes reduction is known as the oxidising agent. Oxidation and reduction
always take place together and these types of reactions are known as redox
reactions. Some of the examples of redox reactions are given below:

a. ldentify the reducing agent in the following reaction

4 NHs3 +5 02> 4NO +6 H0
b. Identify the oxidising agent in the following reaction
Pb3O4 + 8 HCl = 3 PbCl, + Cl2 + 4 H,0O
c.  Write down any two harmful effects of oxidation reaction in daily life.
OR

Explain the term “oxidation” and “Reduction” in terms of Hydrogen.

38

Hemodialysis is a process used to clean human blood and remove impurities.
A dialysis machine and a special filter called an artificial kidney are used to
clean the blood. It is used for the person whose kidneys are not working
normally. Hemodialysis requires minor surgery, usually in the arm.

Unfiltered blood Tubing made of
a selectively

permeable
membrane

Dialysing
solution

fresh dialysing  Used dialysing
solution solution (with urea
and excess salls)

Artificial Kidney - Diclysis

A)i) Name the filtering units present in the human kidneys.
ii) Name the main excreting waste removed by the kidneys from the blood.
B)What are the two main functions of kidneys?




C)What are the major factors on which the amount of water reabsorbed in the
parts of nephron depends?

OR
D)i) In what manner dialysis machine works differently as compared to
kidneys?
ii)lName the substances other than water that are reabsorbed during urine
formation.

39

The domestic electric circuit consists of a red insulated cover
called as live wire, wire with black insulation called neutral wire
and the wire with green insulation is called Earth wire. We know
that the fuse is connected in series with the circuit to prevent the
damaging of electrical appliances and circuit from overloading.
Overloading occurs when live wire and the neutral wire come in
direct contact with each other. Because of which current through
the circuit increases suddenly. Also, overloading may occur
because of connecting many appliances to a single socket. The
Earth wire which is green in color is connected to a metal plate
deep in the earth near the house. This type of safety measure is
used in appliances like electric press, toaster, table fan,
refrigerator etc. The Earth wire gives low resistance conducting
path for the electric current. In this way it protects us from severe
electric shock.

Allthe appliances are connected in a parallel circuit so that the
potential difference across each appliance will be the same.

1) What are the signs of live wire and neutral wire?

2) In our country what is the potential difference between live wire
and neutral wire?

3) What is short circuiting?
Or

3) What is the main purpose of using fuse in electric circuit?




MARKING SCHEME

SECTION - A
1 (b) Hydrated ferric oxide 1
2 (c) Calcium bicarbonate 1
3 (c) Conc HCL(3) : Conc HNO3 (1) 1
4 (c) Carbon acts as a reducing agent 1
5 (a)AC|d 1
6 (b) N 1
7 (a)A dlsplacement reaction takes place as lead replaces copper from the 1
solution.
8 (B)Blood is transferred to lungs for oxygenation and is pumped into various 1
organs simultaneously.
9 (C)Large amount of water flows out from the guard cells. 1
10 (D)Only 1,2 &3 1
11 (B) 1
12 40Q 1
V=IR,V=4V,I=100mA =0.1A
R=V/I=4/0.1=40Q
13 Same at all points 1
14 Increase with temperature. 1
15 D 1
16 D 1
17 (C)Aistrue and Ris false 1
18 (D)Ais False and R is true 1
19 (C)Aistrue and Ris false 1
20 1
SECTION -B
21 (a) Non availability of free ions 1
(b) Zinc is more reactive than hydrogen and hydrogen is more 1
reactive than copper.
22 A) X - KOH Pellets Y2
Y is Wet Germinating seeds Y2
B) Seeds use oxygen present in the flask and release CO2, which is absorbed 1
by KOH. Thus, partial vacuum is created in the conical flask as a result water
from the beaker rises in the delivery tube.
23 A) The people living in the hilly regions do not have enough iodine in their food. | 1
The hormone thyroxine is not released from the thyroid gland in sufficient
amount. Hence they have a risk of getting goitre
B) Endocrine glands don’t have ducts and pass their secretions known as 1
hormones into the surrounding blood for transfer to site of action.
24 1.The strength 1

2. and the direction of magnetic field ata




given point.

25

Current is reduced to half, according to

I=V/R
complete derivation

26

I=1A,t=1s,e=1.6x10-19C
g=ne

i=q/t

n=lt/e

=6.25x10 18 electrons

1+1

SECTION-C

27

(a) Thermal Decomposition
(b) Combination
(c) Electrolytic Decomposition

28

a) Sodium / Potassium
b) Chemical Equation
c) Chemical Equation

29

Lymph carries digested and absorbed fat from the intestine and drains excess

fluid from extracellular space back into the blood.
Blockage of lymphatic system will lead to water retention and poor fat
absorption in the body.

30

A) Cerebrum-Which performs thinking, reasoning, speech, intelligence and
usage of information

B) Cerebellum-It controls and coordinates different muscular actions. It is
responsible for voluntary actions and maintains the equilibrium of the body
during walking, drinking, catching, etc.

C) Medulla-It controls involuntary actions and regulates reflex responses. It
also controls blood pressure, salivation, and vomiting.

31

Definition

increasing the current flow through the solenoid.
increasing the no of turns per unit length of the solenoid.

32

i)Rs=R+R=2R

Rp =2/R

Rs/Rp =4:1

ii) Sample A is good conductor because
resistivity is very small.
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Breathing — Taking in oxygen and expelling carbon - dioxide out is called
breathing. It involves the following steps -

1) Inhalation - It is consuming oxygen. It happens when the muscles linked to
the ribcage contract. The ribs are lifted and the diaphragm is flattened,
increasing the volume of the thoracic cavity. As a result, the pressure inside
the thoracic cavity drops, allowing air to flow into the lungs.

2) Exhalation - It is the process of releasing carbon dioxide. It happens when
the muscles linked to the ribs relax and the diaphragm is formed. This reduces
the volume of the thoracic cavity, lowers air pressure, and expels air from the
lungs.

SECTION -D

34

(i) a=10; b=1;c=7;d=13
(i) Chemical Equation + Role of baking soda+ Use of baking
soda\

OR

(i) B
C>A>D>B
(i) Gypsum formation
Chemical Equation
(iii) Use of POP
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(A) Pisces (which includes fishes) have only two chambers in their hearts. The
blood is pumped to the gills, is oxygenated there, and passes directly to the
rest of the body. Thus, blood goes only once through the heart in the fish during
one cycle of passage through the body. So, they have a single circulation.
Humans have four chambered heart and there is a separation of the right side
and left side of the heart. Also the blood goes through the heart twice during
each cycle in humans. This is known as double circulation.

(B) To prevent mixing of oxygenated and deoxygenated blood therefore
ensuring supply of sufficient oxygen, which helps in generation of required




amount of energy thus maintaining their constant body temperature. (Warm-

blooded animals)
OR

A) The hair-like structures called cilia present on the paramecium help in
collecting the food and movement. They sweep the food inside the
paramecium through the oral groove.

B
Ans: a - Hydrochloric acid (HCI)
b - Pepsin
¢ -Mucus
d - HCI makes medium acidic for the activation of an enzyme pepsin.
e - Pepsin acts in an acidic medium, which breaks down proteins into peptones.

f - The mucus protects the inner lining of the stomach from the corroding action of HCI.

1/2X

36

Resistance is the property of a conductor to resist the flow of charges
through it.

Factors affecting resistance of a conductor:

Refer to answer 17(i)

Rheostat is the device which is often used to change the resistance
without changing the voltage source in an electric circuit.

We are given, length of wire, | = 50 cm = 50 x 10-2 m cross-sectional
area, A =0.01 mm?2

=0.01 x 10-6 m?

and resistivity, p=5x10-8 Q m.

As, resistance, R = pl/A

Answer:

~R=250Q

- a a N

SECTION - E

37

NH;
PbsO,

c. Anytwo effects
OR
Definition
Oxidation
Reduction
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A)i) Nephron
ii)Nitrogenous waste (Urea)
B) Removal of nitrogenous waste, Osmoregulation

C) Factor- How much amount of nitrogenous waste has to be excreted out?

2
Or
D) i)Selective reabsorption
ii) Glucose, amino acids, salts 1
]
39 1) The red insulated wire is the live wire or positive and the black 1
insulated wire is the neutral wire or negative.
2) In our country the potential difference between live wire and 1
neutral wire is 220 V.
3) When live wire and neutral wire come in direct contact, in that 5
situation the current through the circuit increases suddenly and it
is called short circuiting.
Or
2

3) Because of Joule’s heating effect the heat produced causes the
fuse to melt and to break the circuit. And thereby protect the
circuit and electric appliances.




SOCIAL SCIENCE SAMPLE PAPER

CLASS X

GENERAL INSTRUCTIONS:

The question paper comprises Six Sections—A, B, C, D, Eand F.

There are 37 questions in the Question paper. All questions are compulsory.

Section A — From questions 1 to 20 are MCQs of 1 mark each.

Section B — Questions no. 21 to 24 are Very Short Answer Type Questions, carrying 2 marks each.
The answer to each question should not exceed 40 words.

Section C contains Q. 25 to Q.29 are Short Answer Type Questions, carrying 3 marks each. The
answer to each question should not exceed 60 words

Section D — Questions no. 30 to 33 are long answer type questions, carrying 5 marks each. The
answer to each question should not exceed 120 words.

Section-E - Questions no from 34 to 36 are case-based questions with three sub-questions and
are of 4 marks each. The answer to each question should not exceed 100 words.

Section F — Question no. 37 is map-based, carrying 5 marks with two parts, 37a from History (2
marks) and 37b from Geography (3 marks).

1. The first three successful Satyagraha movements by Gandhiji in India were:

a) Against the Rowlatt Act, Civil Disobedience Movement and Quit India

b) Khilafat movement, Non-Cooperation, and Quit India movement

c) Peasants Movements in Champaran in Bihar, Kheda district in Gujarat, and in Ahmedabad by
cotton mill workers

d) Non-Cooperation Movement, Civil Disobedience, and Khilafat

2. It is a 200-year-old system of tapping stream and spring water by using bamboo pipes in
Meghalaya.

a) under ground water storage system b) bamboo drip irrigation system

c) roof top rain water harvesting d) rain water harvesting system



3. Some comparative Data on Haryana, Kerala and Bihar
State Infant Mortality Rate (per thousand Literacy Rate Net Attendance Ratio (per 100
person) % person)
Haryana 30 82 61
Kerala 7 94 83
Bihar 32 62 43

How much is the Net Absence Ratio of Haryana? Choose the appropriate option from the following:

a) 38

c) 27

When was the Project Tiger launched?
a) 1976

c) 1973

b) 39

d) 18

b) 1970

d) 1979

The place in Rajasthan where India conducted its nuclear tests:

a) Pokharan

c) Ajmer

Identify the appropriate reason from the following options, for the non-participation of industrial workers in the

Civil Disobedience Movement.

a) British offered them good salaries

¢) They were reluctant towards the boycott of

foreign goods

b) Champaran

d) Udaipur

b) Industrialists were close to the Congress

d) Growth of Socialism

Assertion (A): Zilla Parishad chairperson is the political head of the Zilla Parishad.

Reason (R): Mayor is the head of municipalities.

a) Both A and R are true and R is the correct

explanation of A.

¢) A is true but R is false.

Fill in the blank:

b) Both A and R are true but R is not the

correct explanation of A.

d) A is false but R is true.

SECTOR

CRITERIA USED

Organized & Unorganized

Nature of employment activities

Public & Private

?

a) Nature of Production activities
c¢) Nature of Ownership

What 1s a coalition government?
a) Alliance of two or more parties

¢) Power shared among different organs of

govemmcnt

b) Nature of economic activities

d) Nature of Social activities

b) Alliance of different social groups

d) Power shared among different levels of

governme nt




10.  Identify the painting from the options given below.
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a) Frankfurt parliament b) The proclamation of the German empire
¢) Duma d) Unification of Germany
11.  Assertion (A): The growing population is the main reason for water scarcity.

Reason (R): Irrigation from tube wells and canals is responsible for water scarcity.

a) Both A and R are true and R 1s the correct b) Both A and R are true but R is not the
explanation of A. correct explanation of A.
c) A 1s true but R is false. d) A 1s false but R is true.

12. State true or false:

In federalism, power is divided between various constituent unit and states.
13.  Regarding the idea of Satyagraha, Arrange the following sentences in the correct order:
1. Mahatma Gandhi successfully organised satyagraha movements in various places.
il. Mahatma Gandhi returned to India in January 1915.
iil. The idea of satyagraha emphasised the power of truth and the need to search for truth.

iv. Mahatma Gandhi believed that this dharma of non-vielence could unite all Indians.
a) 1, 111, v, ii b) i, 11, iv, 1ii
¢) ii, iil, 1v, i d) iv, 1, ii, iii
14.  Read the information given below and select the correct option
Kanta works in an office. She attends her office from 9.30 a.m. to 5.30 p.m. She gets her salary regularly at the
end of every month. In addition to the salary, she also gets provident fund as per the rules laid down by the
government. She also gets medical and other allowances. Kanta does not go to the office on Sundays. This is a

paid holiday. When she joined work, she was given an appointment letter stating all the terms and conditions of

work. In which sector Kanta is engaged? Tick the most appropriate option.

a) Unorganised Sector b) Organised Sector

c) Secondary Sector d) Primary Sector



15.

18.

19.

20.

Fill in the blanks:

The was known as the Powder Keg of Europe.

The teacher is asking about the ways to solve the problems of land degradation. She is also giving clues. The
teacher asked the students to identify the incorrect clues on ways to solve the problems of land degradation.

Identify the incorrect clues.
1. Deforestation
i.. Proper management of grazing
iii. Planting of shelter belts of plants, control of overgrazing
iv. Stabilisation of sand dunes by growing thorny bushes
a) Clue i b) Clue i1
¢) Clue i and 11 d) Clue 11 and iv
Correct the following statement and rewrite:

Hinduism is the state religion of Sri Lanka.

In 1905, who painted the image of Bharat Mata shown as dispensing learning, food, and clothing?

a) Bankim Chandra Chattopadhyay b) Abnindranath Tagore

¢) Rabindranath Tagore d) Ravi Verma
Which of the following is a subject of the Union List?

a) Education b) Defence
c) Trade d) Agriculture

Match the following:

(a) Industries owned by the state or its agencies. (i) Organised Sector

(b) Small and scattered industries which are largely outside the control of the o
(11) Private Sector
government.

(c) Those industries where the terms of employment are regular. (ii1) Public Sector

(iv) Unorganised
(d) Industries owned by individuals or firm.

Sector
a) (a) - (i), (b) - (1), (c) - (iv), (d) - (i1) b) (a) - (1), (b) - (i1), () - (iv), (d) - (iii)
c) (a) - (1), (b) - (11), () - (iv), (d) - (1) d) (a) - (i1), (b) - (i1), (c) - (1), (d) - (1v)

SECTION B

21. How challenge of language policy was adopted by the Indian federalism?

22. Why did nationalist tensions emerge in the Balkans?
OR What changes were brought due to Napoleon's reforms and code? What were the reactions
to these changes?

23. What are the benefits of rainwater harvesting?



24. Give reasons for the growth of service sector in India.

25. Why growth of nationalism in the colonies is linked to an anti-colonial movement. Explain.

26. Distinguish between Khadar and Bhangar.

27. Why do you think NREGA 2005 is referred to as ‘Right to work’? Imagine that you are the
village head. In that capacity suggest some activities that you think should be taken up under
this act that would also increase the income of people. Discuss.

28. Differentiate between Federal Government and the Unitary Government.

29. Justify the statement with suitable example that, “Nationalism, aligned with imperialism, led
Europe to disaster in 1914

SECTION D

30. Explain any five proper farming techniques which can be used for soil conservation. OR
"Consequences of environmental degradation do not respect national or state boundaries".
Support the statement with examples.

31. Explain the term conservatism. Explain with special reference to Europe.
OR
Explain the process of unification of Italy.

32. What are the different forms of power sharing in modern democracies? Give an example of
each of these.

OR

What is Coalition Government? What is its impact on Indian politics?

33. What is the significance of Secondary sector in Indian economy?

OR

"Consequences of environmental degradation do not respect national or state boundaries".
Justify the statement

SECTION E
34. Read the text carefully and answer the questions:
The first clear expression of nationalism came with the French Revolution in 1789. France was a
full-fledged territorial state in 1789 under the rule of an absolute monarch. The political and
constitutional changes that came in the wake of the French Revolution led to the transfer of
sovereignty from the monarchy to a body of French citizens. The revolution proclaimed that it
was the people who would henceforth constitute the nation and shape its destiny. From the very
beginning, the French revolutionaries introduced various measures and practices that could
create a sense of collective identity amongst the French people. The ideas of La Patrie and Le
Citoyen emphasised the notion of a united community enjoying equal rights under a
constitution. A new French flag, the tricolour, was chosen to replace the former royal standard.
The Estates-General was elected by the body of active citizens and renamed the National
Assembly. New hymns were composed, oaths taken and martyrs commemorated, all in the
name of the nation. A centralized administrative system was put in place and it formulated
uniform laws for all citizens within its territory. Internal customs duties and dues were abolished



and a uniform system of weights and measures was adopted. Regional dialects were discouraged

and French became the common language of the nation.

(a) What was the major change that occurred in the political and constitutional scenario due to
the French Revolution in Europe?

(b) Mention the proclamation of the French Revolution.

(c) Mention any two policies or practices that helped people feel a sense of community.

35. Read the text carefully and answer the questions

A dam is a barrier across flowing water that obstructs, directs or retards the flow, often creating
a reservoir, lake or impoundment. "Dam" refers to the reservoir rather than the structure. Most
dams have a section called a spillway or weir over which or through which it is intended that
water will flow either intermittently or continuously. Dams are classified according to structure,
intended purpose or height. Based on structure and the materials used, dams are classified as
timber dams, embankment dams or masonry dams, with several subtypes. According to the
height, dams can be categorised as large dams and major dams or alternatively as low dams,
medium height dams and high dams.

(a) What does the word 'Dam' actually refer to?

(b) Mention any one benefit of a Multi-purpose River Valley Project.

(c) How have multi-purpose river valley projects a cause of social movements? Explain.
36. Read the text carefully and answer the questions

: Besides seeking more income, one way or the other, people also seek things like equal
treatment, freedom, security, and respect of others. They resent discrimination. All these are
important goals. In fact, in some cases, these may be more important than more income or more
consumption because material goods are not all that you need to live. Similarly, there are many
things that are not easily measured but they mean a lot to our lives. These are often ignored.
However, it will be wrong to conclude that what cannot be measured is not important. For
development, people look at a mix of goals. It is true that if women are engaged in paid work,
their dignity in the household and society increases. However, it is also the case that if there is
respect for women there would be more sharing of housework and a greater acceptance of
women working outside. A safe and secure environment may allow more women to take up a
variety of jobs or run a business. Hence, the developmental goals that people have are not only
about better income but also about other important things in life.

(a) Explain how people look at a mix of goals for development with an example.

(b) That which cannot be measured is not important for development. State a reason either in
favour or against the statement



37.

SECTION F
A Two features A and B are marked in the given political map of India. Identify these features with the help of

the following information and write their correct names on the lines marked on the map.

i. 1. Place where non-cooperation movement was called off

ii. 2. Place where no tax campaign was started
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